3-6 AB Calc.notebook October 20, 2014

& Q®

=a00 (30_{.)1
Q. m.s*m-L:_’.ng_zqfovclocH\,
200 (400 — 40¢ + +2) 3t om0
QG‘)» 180050 — 12000t +4 200t~ G teR, €27
~[2000 + Y400t b 3<£<6
- (2000 + yooo = - g()oo ol o—o|
L. (0 , (%0009 |
(10, §0000) ! © o
- >—0
@ Mars: s=[.80€ Q"’) VC*’F&P-%Z%-‘
s=372t o (€) = Gt5-18t+137
lg ﬁ - 37Z't t"— }t +12=0
55 = M @D D=0
g / ,-I- oS X
) 3 I(H-:sx X (50 @ /- er +S
5 lreesi)’ e
F\ﬂn,‘ (TF 3)

[ +cosx + X Sin¥X

(1cos x)* X Yj_—n(x TD
/], |(x-4ﬂ|

Oct 20-10:04 AM



3-6 AB Calc.notebook October 20, 2014

Derivative Quiz - Find the derivative of each function.
1. yzx——x—+x—1 2. f(x )_2x+1
3 32 -1
X =X+ | ~Lx+Lr-L
(2-
x> +1
3. f(x)=2x"—5x+1 4, f()=—7— _
S -
VTR
X oy 2+ X Qx(x)-é(}
5. J()=x"+— =X g(x)=x*3—x
2x~« -ﬁ
' X4
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3L Chain Rule

When taking the derivatives of a function which 1s
made up of the composite of 2 or more functions, take
the derivative of the “outermost” function and work in.

£9= (XZ + D —C(j (Z)>
9l = x+ |
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Composite Functions

h(x) =(3x + 1)3 ! 4

NG = 5(30) R

A composite function 1s a functiorthat i¥made up of
2 or more functions “nestled” inside of each other.

3x+1 1s “nestled” inside of x5

(F ()
If f(x)=3x+1 and g(x)=x"5, then h(x)= ).
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Find the derivative

1.) y=sin(3x+5)

Y= cos (3x+S) 3
= 3¢cos <§X+S>

Sep 28-12:42 PM
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2.) f(x)=Gx+7)

4”@ = 8(‘5><+7>7'S
= L}O(Sx-m)?
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3 . ) £(x)=tan(x” +1)

F')= sed G*+1) -
= A Sec-zC)(2+I§

Sep 28-12:42 PM
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4. ) g(x) =cos’(4x —6)

= Qos (4x-6)>
3’()() - &L cos (‘Ix——é) - (—s]r)("/x—é>°"{>
= -3 cosCx-6) sin(4%-6)

;'_\Cgﬁ/(—‘fxw) z=-sin(ix-0) - 4

A%
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5) y =+/tanx
A
- QEcmx)

/ A a
EQan) * Sec X
Scc_zx

§ J €an X

\C
1
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6) ¥ =x"cos(4x’ —5x)

'g (Z = x* 90x) = cos (x-S0
)= 3 30 = ~Sn(4hx-S9) - (lax™s)
) o (3
) y=see| 5 + ax cos (Yx3-5)

Sep 28-12:42 PM
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8.)

9.)

v =sin(x” secx)

L4

v

V=—"—"7
T sin(x?)

Oct 22-7:52 AM
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Ex2. Find the equation of the line

tangent toy = cos*x at -~
6

Sep 28-12:42 PM
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Homework

pg 153 #11-19, 21, 22, 25, 27, 29, 33, 56,
58, 62, 63,72, 73

Sep 28-12:42 PM
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